·ඉර්.

Owner/Manager

CONTRACT AGREEMENT

WHEREAS, the Entity is desirous that the Contractor execute **Sta. Maria-Burgos NIS/Resto NIS/CY 2023**, located in **Burgos**, **Ilocos Sur** under Contract No.: **R1-ISIMO-23-12-14** (hereinafter called "the Works") and the Entity has accepted the Bid for <u>SIXTY</u> **MILLION NINE HUNDRED FORTY-FOUR THOUSAND SIX HUNDRED FOURTEEN PESOS & 10/100 (PHP60,944,614.10)** by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities;
 - iv. General and Special Conditions of Contract;
 - v. Supplemental or Bid Bulletins, if any;
 - **b.** Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- **c.** Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of <u>SIXTY MILLION NINE HUNDRED FORTY-FOUR THOUSAND SIX HUNDRED FOURTEEN PESOS & 10/100 (PHP60.944.614.10)</u> or such other sums as may be ascertained, **RIVBROS CONSTRUCTION FACTORS & DEVELOPMENT** agrees to Three Hundred Fifty-One (351) calendar days in accordance with its Bid.

Page 1 of 4
Contract Agreement for the Sta. Maria – Burgos NIS/Resto NIS/CY 2023
R1-ISIMO-23-12-14

ENGR. ROMEO,C. RIVERA

Owner/Manager

Item No.	Description	Qty.	Unit	Unit Cost (Php)	Amount (Php)
I. TE	MPORARY WORKS				
. A.	Sign Board.			,	4
a.	Project Billboard	1.00	unit	5,820.84	5,820.84
В	Construction Safety and Health Program	1.00	l.s.	175,980.00	175,980.00
С	Demobilization/Mobilization	1.00	l.s.	56,250.00	56,250.00
II. DIVERSION WORKS.					
A.	Proposed Repair of Diversion Dam				
1.	Concrete Works				
a.	211 kgs/cm2 Reinforced/Plain Concrete w/ forms	1,135.74	cu.m.	13,298.06	15,103,127.31
b.	Rubble Masonry w/ Class "A" Concrete Binder	1,102.69	cu.m.	8,419.17	9,283,734.57
c.	Gabion Revetment	1,305.56	cu.m.	6,641.55	8,670,942.02
2.	Steel Works				
a.	Reinforcing Steel Bars (All Sizes)	39,230.25	kg	89.25	3,501,299.81
b.	U-TYPE STEEL SHEET PILE, 400mmx100mmx10.50mm	120.50	pcs	50,742.44	6,114,464.02
	thk.x12mtrs. (FURNISHED)				
C.	U-TYPE STEEL SHEET PILE, 400mmx100mmx10.50mm	120.15	pcs	8,896.88	1,068,960.13
	thk.x12mtrs. (DRIVEN)				
d.	Fabrication & Installation of Steel Gate w/ CP-12 Tandem	3.00	unit	1,062,500.00	3,187,500.00
	Type Lifting Mechanism @ Sluice Way				
е.	Fabrication & Installation of Stair & Railings	1.00	. assy.	139,718.75	139,748.75
f.	Fabrication & Installation of Steel Gate Housing	1.00	assy	78,078.13	78,078.13
3.	Earth Works				
a.	Course/Fine Sand Filter Drain	50.60	cu.m.	2,927.11	148,111.77
b.	Course Gravel Filter Drain	40.45	cu.m.	2,927.11	118,401.60
C.	Cofferdam/Brushdam (By Equipment)	375.00	cu.m.	250.48	93,930.00
d.	Common Excavation (By Equipment).	562.23	. cu.m.	153.59	86,352.91
e.	Structure Backfill w/ Compaction (By Equipment)	412.23	cu.m.	739.46	304,827.60
f.	Demolition of Exisiting Concrete w/ Hauling of	1,355.00	cu.m.	340.73	461,689.15
	Demolished Materials (By Equipment)				_
4.	Miscellaneous Works				
a.	Supply & Installation of 2"Ø Perforated Drain Pipe	116.00	l.m.	390.63	45,313.08
b.	Supply & Installation of 2"Ø PVC Weepholes	100.50	l.m.	164.06	16,488.03
III. C	analization				
A.	Construction of Canal Lining @ Lateral D				
1.	Reinforced Concrete Works				
а	170 kgs./cm2 Reinforced Concrete w/ forms	720.04	cu.m.	15,176.84	10,927,931.87
	(RSB=40.00 KGS/CUM)				17/
2.	Expansion/Contraction Joint				
а	Supply & Installation of 3/16" x 6" PVC Water Stop	196.23	l.m.	660.10	129,531.42
b	Supply & Installation of 10mm Ø Reinforcing Dowel	360.00	l.m.	69.35	24,966.00
С	Supply & Installation of 1/2" Ø x 3 mts. PVC Pipe	60.00	pcs.	217.31	13,038.60

Page 2 of 4 Contract Agreement for the Sta. Maria – Burgos NIS/Resto NIS/CY 2023 R1-ISIMO-23-12-14

Item No.	Description	Qty.	Unit	Unit Cost (Php)	Amount (Php)	
3.	Earth Works					
a.	Gravel Blanket	192.00	cu.m.	2,372.96	455,606.40	
b.	Common Structure Excavation (By Manual)	411.56	cu.m.	250.00	102,890.00	
C.	Backfilling w/ Compaction (By Manual)	724.74	cu.m.	753.15	545,837.93	
IV. Canal Structures.						
A.	Construction of Canal Lining @ Lateral D					
1.	Reinforced Concrete Works					
a.	211 kgs./cm2 Reinforced Concrete w/ forms	4.97	cu.m.	16,162.11	80,325.69	
	(RSB=40.00 KGS/CUM)					
b.	Supply & Installation of 6" P.E. Pipe	3.98	l.m.	351.25	1,397.98	
2.	Earth Works					
a.	Common Structure Excavation (By Manual)	0.26	cu.m.	250.00	65.00	
b.	Backfilling w/ Compaction (By Manual)	2.70	cu.m.	753.15	2,033.51	
	CONTRACT AMOUNT PHP 60,944,614.					

4. The **National Irrigation Administration** agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

ENGR. DANILO V. GOMEZ, MSME
Acting Regional Manager

ENGR. ROMEO C. RIVERA
Owner/Manager

Witnesses:

MS. VANESSA C. MOULIC, CPA Division Manager A, AFD

for

National Irrigation Administration – Region 1

for

SERGIO A. JALVADOR JR.

RIVBROS Construction Factors & Development

ACKNOWLEDGMENT

JAN
BEFORE ME , a Notary Public for and in the above jurisdiction, this $\frac{8}{8}$ day of January 2024 at
, ENGR. DANILO V. GOMEZ, Acting Regional Manager of the National
Irrigation Administration Regional Office No. 1, with Professional Regulation Commission (PRC)
Identification Card No. 0027268, valid until 23 August 2025, and ENGR. ROMEO C. RIVERA,
Owner/Manager of Rivbros Construction Factors & Development withOSCA
Identification Card No. <u>9885</u> , are known to me to be the same persons who executed the
Contract Agreement consisting of four (4) pages, including this Acknowledgment, and they
acknowledged to me that the same are their own free and voluntary act and deed, as well as the
institutions they represent.

WITNESS MY HAND AND NOTARIAL SEAL on the date at the place first above written.

Doc. No. Page No. Pook No.

Series of 2024

ATTY. FRANCIS MELVILLE V. TINIO,
NOTARY PUBLIC
UNTIL DEC. 31, 2024 BINALONAN, PANG.
PTR NO. \$265726/1-2, 2024 BINALONAN, PANG
TIN NO. 924-410-311

ROLL OF ATTY'S NO. 462